The Routledge Introductory Course in Modern Hebrew: Hebrew in Israel

UNIT 5: CHECKLIST

CONTENT

You are expected to know some fact about the different foods you can find in a supermarket in
Israel, sections of the supermarket, delivery, Mahane-Yehuda Market, etc.

VOCABULARY

Pay attention to specific vocab items, such as:

» NI/ 2yw:
- They follow a noun, with which they agree in gender and number,
- Know the difference between n1ayvw niwa/niavw mwn,
- Know other uses of the verb mayb.

= TINID,PADN N,

= The difference between 1ap5 ,72719, and T™nY/A1MmY,

= The difference between nbwb ,mipY, and mbyH,

= 19N in positive and negative contexts,

= The meanings of 12 (just like, such as),

. YN,

= The interrogative nrX and how it is used in statements,

= The use of certain verbs as nouns: 101 (salesman), ypu (passenger), 2mn (lover).

GRAMMAR, SYNTAX, PRAGMATICS

= How to make a suggestion,
= The preposition Y¥K:
- its meanings,
- the 10 variations of Y¥X with the pronoun suffixes,
- how a location in an YxKX sentence can be further specified with an additional
preposition (For example: TIiwna 17 Y¥N "nawn),
= Cases in which the infinitive is used as the only verb in a sentence,
= DYa qN and mYa/12T1 mw:
- they function in negative sentences that must include a negation word,
- the relationship between nya qx and omyab-Tnn, and
the relationship between m52/727 W and \Wnwn-"10n.
- Other expressions of the root .n.y.a.
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VERBS

= New verbs in this unit — know their meaning, infinitive, present tense, past tense (if
applied), and the imperative (if applied),
= Past tense of bya verbs (in different m1r) and bya verbs, inc. verbs with a 4 letter root,
= Past conjugations of byay and Y yan,
= The uses of N1PNY in past tense. Pay attention to details such as:
- the words "X/ only exist in the present tense,
- the copulas X1 and X¥n) only exist in the present tense,
- the word X (in "wax 'X) only exists in present.
- awar and 71X cannot be personalized with the preposition ...5.
= The imperative form (1x) — the concept and the conjugation.
= The future forms: 2wy ,N¥1,123
= 5wa M1 (adjectives such as: 11n3 ,mna). Remember that these are adjectives, and as such:
- they have 4 forms, and
- they do not conjugate in the past tense.
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